| Session (2022-24) & (2023-25) | Group IT ¢ | 94~ 4 20ed sy |
Mathematics (Subjective) 1* A. Exam. 2024 (s (2l @

60 wilpas JFZW A2 Ay SSC(Part—T) ST 2110 : i

il S e fin o e S F g2 AL a1 B — OV Lt A 1 B 2 AU FE s flun
-«g‘—bn@gx,‘irfg g{/(&wf-} 12 A AL, (AT IERISTR A vz

Note : itis compulsory to attempt (6 - 6) parts each from QL.No.2, Q.No.3 and Q.No.4. Attempt any {03) questions from Part I,
While Q.No.9 is compulsory. Write same Question No. and its Part No. as given in the Question Paper,

36 = 2x18  Make diagram where necessary. _L,fk:uq‘y;ﬂdnﬁu'-g | [ (Part—D) (3l e

Find the Additive Inverse of given Matrix A= [ "§ : g AT L

I Z=2+4,fndthe Valueof ZZ redl zZ Fz=2+1 A
2

Simplify : ( 4::_:° ) -y

Findthe Valucof @ : log.é = 0.5 s geradda

-2l log 30 7 log 5 = 0.6990 , log 2 = 0.3010 , log 3 = 0.4771
If log 5 =0.6990, log 2 = 0.3010 , fog 3 = 0.4771, findthe Value of log 30.

If x =4 - V17 find - N R LT
. » - 4x+4 P

Simplify “x2-8 - é{"’.
Factorize : 25 x* + 16~ 40 x D el
 Factorize ¢ x* - 11 x~ 42 AT
Find the FL.C. F by Factorization- i 8 x‘~128 , 12 x*~ 96 t e Al gf
Solve the Equation. V3x+d4 =2 L T
3Ix+2 2x +1 "

| Solve the Incquality xg - )(3 >-1 s @S wighs

e muli s y=mx+c f 3x-dy-5=0 =il
Find the Velues of M and € of theline 3% — 4y — 5 = 0 by expressinginthe form ¥ = mx + ¢
Draw the Graphof Yy = — 1, e ¥ y == 1 2l

Find the distance between the Pairs of Points : A{9,3},B(7,2) : gfrw‘yswy.uz:w}u: 15

A(-8,1),B(6,1) P et B ¥ BB L i U b8
Find the Mid-Point of the Line Sogment joining cach PairsofPoints : A{(~8,1),B(6,1)
Define S.A.S Postulate. | SIS arr¥ P-j-P
‘What is meant by Interior ofa Rectangle? Tl /yrs;.;w.ﬁi ﬁd‘fp
' Definc Point of Concurrency. S o
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Verify thet 2 €My 4 €M end 7 €M ure the Lengths of Triengle or not? Give reason.

Describe Practical Application of Similar Triangles. L et S eteasia i S s 0 p 00
Verify that the Measures of Sides arc Right Angle or not. L AR L a e B

a=9em,b=12em,c=15 cm
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Find the unknown Vatue ‘X ” in the Figure,

unknown x . yo andz .

oo d S XS (V)

Zecm K

2cm
..Jz,[‘)k‘gf‘zuf m al x £ ABCD Cﬂ-’ﬂU'FU‘}-'J"‘L?‘JJ {vi)

C

i1f the piven fiaure ABCD is al’ara]l::logmm then find X and M. /A
11"
(5m + 10)°

Find the Area ofthe Figure. r'.““' 3.8 (vi)
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vi;'r’.!'"u.-.-zgf 2° _yo,:co [‘)L“t -q...i’t( A o0 ADLEABC u.‘-:ﬂ'bl.l"-‘ﬁlu'.‘i"[,‘flj) (viii)

If the given Triangle ABC is Equilateral Triangle and AD is Bisector of Angle Ay then find the Values of

Constructa AABC inwhich :  mBC =4.2 cm, mCA=3.5¢cm,mec=75 1 JLUgtk AABC (ix)

(24 = 8x3) (Part —II) pa> 4a> |

B Y L A uia Eui o (Y
Solve the System of Lincar Equalion$iby the Cramer s Rule.
' qx -2y =4
-Tx+2y=-10
Simplily : 1A (@)
( )Pm ( ) —S(a".a’)"",a:ﬂﬂ

571r

Use Log Table to find the Value of 0.8176 x 13.64 i g;)';-ubrdwr'?aﬁ (A1) ﬁﬁ’;dir

G iy z in Xy +yz+zx =46 » x"+y +2° =81 A W)
If %2+ y? # 22 = 81 end Xy + yZ + 2X % 46 then findtho Valueof X + Y +z
Factorize the Polynomial by Factor Theorem
x® - 6x* + 3x + 10
Find H.C.F by Factorization : s e gy ()
K- X, X+ 2x -3,k +3x-4

3-5 1 2 & z
Solve for X : (5 Bl-2 =g e i )

Construct the A ABC and Draw Bisectors of the Angles. _z;f._w.i ugsts sl 2 AABC ()
mﬁ=4.2cm,mia=6cm,mc_aﬁ=5.2cm
o bl oo et b8 T 4 I ::é‘jls % Jtd):’:ﬁ-hﬁﬁﬁ(ﬁu—g A S et

Prove that any Point on the Right Bisector of s Line Segment is Equidistant from iis end Points.
OR )
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Prove that Triangles on equal basps and of equal Altitudes are equal in arcd.
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